






i=m..n ~ i=1..x

s ~ z

f(i) ~ y

H,+,0 ~ N,+,0



i=m..n ~ i=1..x

s ~ z

f(i) ~ y

H,+,0 ~ N,+,0 z := 0

i = 1..x

z := z + y

i:ℤ







i=m..n ~ i=1..n

max,ind ~ ertek,ind

f(i) ~ |x[i]|

H,> ~ R,>



m..n ~ 1..n

max,ind ~ ertek,ind

f(i) ~ |x[i]|

H,> ~ R,>
ertek,ind := |x[1]| , 1

i = 2..n

|x[i]| > ertek

ertek,ind:=|x[i]|, i skip

i:ℤ







m..n ~ 2..n

l,ind ~ van,ind

felt(i) ~ h[i]<h[1]



m..n ~ 2..n

l,ind ~ van,ind

felt(i) ~ h[i]<h[1]

van, i:= hamis, 2

 van  i  n

van, ind:= h[i] < h[1], i

i:=i+1

i:ℤ





i=m..n ~ i=1..n

max,ind ~ max,ind

f(i) ~ hanyszor(i)

H,> ~ N,>

i ~ j

i=m..n ~ j=1..n

c ~ c

felt(i) ~ x[i]=x[j]



i=m..n ~ i=1..n

max,ind ~ max,ind

f(i) ~ hanyszor(i)

H,> ~ N,>

max,ind := hanyszor(1) , 1

i = 2..n

db:=hanyszor(i)

db > ertek

max,ind:=db, i skip

j:ℤ

i ~ j

i=m..n ~ j=1..n

c ~ c

felt(i) ~ x[i]=x[j]

c:=0

j = 1..n

x[i] = x[j]

c:=c+1 skip

c:=hanyszor(i)

i:ℤ

db:ℤ


